lotal no. of printed pages @ 8 1102/24-23

Annual Examination, 2024-25
Class : VII
Subject : English
Time : 3 hours Total marks : 100
(The figures in the margin indicate full marks for the questions.)

Choose the correct answers from the given alternatives and
write them separately. (from question no. 1 to 15)

1x15=15
I. Leonardo’s famous portrait ‘Mona Lisa’ is now preserved
at the—
A) British Museum B) Louvre Museum
C) Vatican Museum D) Van Gogh Museum
2. The poet of the poem “Try Again’ is—
A) C.J. Heck B) Eleanor Farjeon
C) W.E. Hickson D) Robert Frost
3.  “The Temple City of India” is—
A) Cuttack ' B) Bangalore
C) Kanyakumari D) Bhubaneswar
4. “She is the nicest girl I've ever met and it’s sad to see her
. Fill the blank.
A) cry B) smile
C) laugh D) frown
5. Jim Corbett died in-
A) India B) Kenya
C) England D) South Africa
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Hailey National Park was renamed as Ramganga National

Park in the year

A) 1954-55 B) 1936

C) 1955-56 D) 1947

Leonardo da Vinci was born in the year

A) 1449 B) 1450

C) 1451 D) 1452

The Vivek Express train takes about _ hours to reach
Kanyakumari from Dibrugarh. Fill the blank.

A) 83 B) 93

C) 43 D) 53

Leonardo spent his early years with his—

A) father B) grandparents

C) mother D) maternal uncle
The word “Persevere” means—

A) to keep crying B) to continue trying
C) to continue sleeping D) to keep neglecting

The ship was bound __ India. Fill the blank with correct
preposition.

A) to B) of

C) for D) with

I will not go to school . Fill the blank.

A) ifit will rain B) if'it rains
C) if the rain comes D) ifitis raining
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I warned him driving so fast,

Fill the blank with correct preposition.

A) of B) against
') from D) for
I am satisfied __ your work. Fill the blank with

correct prepositon.

A) with B) by

C) at D) for

[ have great regard  my teacher. Fill the blank
with correct prepositon.

A) m B) for

€). to D) with

Answer the following questions in complete sentences. 1x4=4
a) Where does Mr. Aditya Sarma work ?

b) Why do the other children tease the girl ?

¢) What did Leonardo create on the shield ?

d) What should we do if we don’t succeed at first ?

Give brief answer to the following questions. (any three)
2x3=6
a) What were Corbett’s conditions for hunting man-
eaters?
b) Why was Jim Corbett called a good tracker ?
¢) What does the grandmother say about the children ?
d) What did Leonardo do as an anatomist ?

¢) What are the landmarks of Kanyakumari ¢

(3) PTO.
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Change the form of narration of the following. | Xx3=3
a) The boy said to me, “I have lost my pen.”

b) Rashmi said to me, “I shall meet Kangkana tomorrow.”
¢) The teacher said, “The sun sets in the west.”

Change the voice of the following sentences. 1x3=3
a) Iam reading the Mahabharata.

b) My brother knows the answer.

¢) Mother is cooking dinner.

Name the tense of the underlined verbs in the following
sentences. /aX4=2

a) The news spread quickly.
b) She has been writing her new book for the last six months.

c) The lion had been roaring for half an hour when I was
in the zoo.

d) I will have completed my homework by 9.30 p.m.

Fill in the blanks with modal auxiliaries. Y2%6=3

a) His grandfather is ninety, buthe still read and write.
| (ability)

b) You  not touch this switchboard. (prohibition)

c) __ you like to have a cup of tea with me ? (request)

d) The boy __ to fight with his strong brother. (face
boldly)

e) I__ go foramorning walk near the river. (past habit)

f) We__help the poor and the needy. (moral obligation)
Correct the following sentences. (any two) 2=2

a) We bought some new furnitures.
b) The police is looking for the thieves.

(4) Contd.
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¢)
d)
e)

Her socks is white.
All my luggage are on the table.

Rice are an important crop in our country.

State whether the underlined part is a phrase or a clause.

Vyx4=)

a) I was playing cricket at that time.

b) Lknow the man who is sitting in the corner.

¢) She is a girl with curly hair.

d) Iwill not go out if he comes.

Fill in the blanks with the correct form of the verbs given in

brackets. Yax4=2

a) My brother always wakesupifhe  (hear) any noise.

b) Ifyou  (see) her, please ask her to meet me.

c) Ifhecomes,I  (go) for a walk.

d) If I __ (know) this, I would not have made such a
mistake.

Choose the correct alternatives from the brackets and

rewrite the sentences. 1x5=5
a) Myclass teacher (wants / is wanting) to meet my parents.
b) We (have watched / watched) the movie last night.

¢) Look at the black clouds. It (will rain / is going to rain)
d) She (did / has done) a lot of work today.

¢) I(do not eat/ have not eaten) the chocolates yet.

Do as directed. 1x4=4
a) This novel costs three hundred rupees.

(Ask a question using “How much”)
(5) RTO.
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b) He went to Delhi last month.
(Ask a question using “When")

¢) She has five storybooks. |
(Ask a question using “How many )

d) She went to Delhi with her parents.
(Ask a question using “With whom”’)

Make sentences with the following. 1x4=4

look up, keep down, at sixes and sevens,
at the eleventh hour

Write an article on any one of the following topics. 10
a) The habit of reading books.
b) Your school library.

Read the following passage carefully and answer the
questions given below it.

Many years ago there lived a brave king named Robert
Bruce in Scotland. He fought many battles and won them.
But in one such battle he was badly defeated. He ran away
from the battlefield to save his life. He hid himself in a cave
near a mountain range. He was in great despair and he gave
up all his hope. One day he was sitting mournfully inside the
cave. Suddenly he saw a spider. The spider was trying to
climb up to the roof of the cave. But it was not an easy task
for the tiny spider and it failed in its repeated attempts. Bruce
was minutely observing the activity of the spider and he
noticed that after six attempts, the spider finally succeeded in
reaching the roof, Bruce leamnt a big lesson from this incident.
He was encouraged to face his enemy with new strength. He

organised his army one more time, fought courageously and
succeeded in making his country free.

(6) Contd



Questions :

a)  Where did Robert Bruce rule 7 I

b) Why did he run away from the battlefield 7 I

¢) Where did he hide himself ? |

d) What was the spider trying to do ? ]

e) After how many attempts was the spider successful in
reaching the roof ? I

30. Do as directed. ' Yax10=5

a) Form a new word from each of the following.
water + proof, Out + burst

b) Add a prefix to the following words.
national, principal, able

¢) Add suffix to the following words.

speak, dark, hunt
d) Fill the blanks with collective nouns.
a chickens, a of snakes.

31. Translate the following sentences into English.  1x10=10

) o PRI T ?

i) TGOl SR (AR SiiEe SR IV 17 FRE |
i) cofoat SR Sl wARE |

iv) WS e ek s ¢

v) 1S 4 T2 9@l iReE GNE 3|

vi) @S e |

vi) W2 CHEALR 09 (PRI SO (E WIES (2 |
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16. The value of 1 m® is —
A) 100 cm? B) 1000 cm? C) 10000 cm? D) 100000 cm?
17. Let'a"unit be the length of a side of an equilateral triangle. Then perimeter of the equilateral triangle is —
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Chemical symbol of Iron is

A) Mg B) Ca C) Fe )

What is the unit of speed in S ?

A) kilometer/hour B)  meter/second C)  kilometer/minute D)

A)  Weathering B)  Erosion C)  Soil pollution D)

An erect and enlarged image can be formed by-

A) only a convex mirror

B) only a concave mirror

C) only a plane mirror

D) both convex and concave mitrors

Who discovered magnetic effect of electric ctifrént ?

A) HC Oersted B)  Michael Faraday @ C) Ohm D)
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. The process of breakdown of rocks by the action of wind, water and sunlight is called-

Percolation

Fleming
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